Mod 2 Test Review 2 Name H 80/ _—

Math 2 Date yriod

3) f)= J(x+4)(x=-2)
x-intercepts: (—1'//0) ( %:0)

Factored form: y-intercept: /0,—-5-/)

()(‘i'"l"/)é(»-}) Vertex: _ (-1, -—4)’:5)

Equation of Axns of sym X= i

1) f(x)= x>+ 13x- 14

Vertex form:

(x+65)7~5¢,25 Sl

Vertex: ((L‘, ﬁ 56, Qf) be

Equation of Axis of Sym._X= 23N 6&'/‘ " Tt

Y-int t./0,
intercept: /0, /% ) }(b

x-intercept(s): (= /‘-/Jd [{,0) i

2) fx)=x*-2x+24

Factored form:

( X+ ) (x—6)
4) Factor: x>+ 10x-75

Vertex for(m):ﬁ“/ )*2_,,1; 23 C 5 4 [5 ) ( X'—E)

5) Factor: 45 +8x -5

Vertex: C’/ 23) (2X+5) ( Q\gt"“/)

Eq. of Axis of Sym._ % = [ _
y-intercept: (/O Qw“‘f)
x-intercepts /= <1’ 2) (é O)

6) Factor: 3x* - 75

B (x+5)(x—5)




7) Use the graph to write the equation in: 8) In a basic square, one side was increased by 1 and the other side
’\ (0.24) : '_ was increased by 3, and finally, the area was multiplied by 3. Write

the equation in: D/'qdi S g’ X3

a) Factored form:

L] 341 X X3

b) Standard form:

gxi—-k 12 % 1+49

Vertex form: C XM””‘; ) “2\5 : c) Vertex form:
p Z
T +2)=-3

Factored form: (X“Q )(X‘)l )

a

d) Describe the transformation to obtain this graph from the parent
graph f(x) = x°.

SHredeb S S} 4S
\ertexl —2,~3 ) <, 453

Ao §1 Xz~ Nerd b

Standard form: Xl” /Lfl k+gq




